Page 1 of 4

BID TABULATION

Ottawa County State Road Sanitary Sewer Subsidence Repair (Rebid)

Job Number: 308500-00111

Bids Received: Tuesday, November 13, 2018 at 10:30 a.m.

Engineer's Estimate: \$215,000

Poggemeyer Design Group, Inc. 1168 North Main Street Bowling Green, Ohio 43402 Ken Gill Construction 2125 East Harbor Road P.O. Box 608 Port Clinton, Ohio 43452 JMJ Incorporated, Ltd dba Hula Construction P.O. Box 660, 5715 Maple Avenue Castalia, Ohio 44824

Ref. No.	Description	Estimated		•		,		
		Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	
1	Sanitary Sewer Force Main 3"	470	L.F.	\$41.00	\$19,270.00	\$12,925.00	\$6,074,750.00	
2	Laterals 6"	260	L.F.	\$95.00	\$24,700.00	\$5,694.00	\$1,480,440.00	
3	Manhole, Complete	1	Each	\$14,708.00	\$14,708.00	\$11,200.00	\$11,200.00	
4	New Pump Station 5' Diameter Wet Well	1	Each	\$107,670.00	\$107,670.00	\$117,000.00	\$117,000.00	
5	Abandon Existing Sewer Pipe, Block and Seal			,	. ,	. ,	. ,	
	Both Ends	1	L.S.	\$1,100.00	\$1,100.00	\$4,900.00	\$4,900.00	
6	Traffic Control	1	L.S.	\$2.00	\$2.00	\$4,500.00	\$4,500.00	
7	Storm Sewer Work Station 79+50, Installed							
	Complete	1	L.S.	\$1,250.00	\$1,250.00	\$5,500.00	\$5,500.00	
8	Restoration	1	L.S.	\$2,000.00	\$2,000.00	\$16,000.00	\$16,000.00	
9	Mobilization	1	L.S.	\$4,500.00	\$4,500.00	\$7,000.00	\$7,000.00	
10	General/Mechanical/Electrical Allowance	1	L.S.	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
11	SCADA RTU Allowance	1	L.S.	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00	
	CORRECTED BID PRICE						\$7,745,290.00	
	BID PRICE AS SUBMITTED				\$199,200.00		\$208,719.00	
	BID BOND				Yes	Yes - \$208,719.00		
						wrote totals vs unit		

Page 2 of 4

BID TABULATION

Ottawa County State Road Sanitary Sewer Subsidence Repair (Rebid)

Job Number: 308500-00111

Bids Received: Tuesday, November 13, 2018 at 10:30 a.m.

Engineer's Estimate: \$215,000

Poggemeyer Design Group, Inc. 1168 North Main Street Bowling Green, Ohio 43402 Kyle Sherman Excavating 23681 Dunbridge Road Perrysburg, Ohio 43551 Geo. Gradel Company 3135 Front Street Toledo, Ohio 43605

Ref. No.	Description	Estimated Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	
1	Sanitary Sewer Force Main 3"	470	L.F.	\$28.00	\$13,160.00	\$72.00	\$33,840.00	
2	Laterals 6"	260	L.F.	\$28.00	\$7,280.00	\$29.00	\$7,540.00	
3	Manhole, Complete	1	Each	\$8,066.00	\$8,066.00	\$10,000.00	\$10,000.00	
4	New Pump Station 5' Diameter Wet Well	1	Each	\$118.00	\$118.00	\$121,200.00	\$121,200.00	
5	Abandon Existing Sewer Pipe, Block and Seal							
	Both Ends	1	L.S.	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	
6	Traffic Control	1	L.S.	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	
7	Storm Sewer Work Station 79+50, Installed							
	Complete	1	L.S.	\$2,500.00	\$2,500.00	\$1,900.00	\$1,900.00	
8	Restoration	1	L.S.	\$23,000.00	\$23,000.00	\$5,600.00	\$5,600.00	
9	Mobilization	1	L.S.	\$7,500.00	\$7,500.00	\$18,420.00	\$18,420.00	
10	General/Mechanical/Electrical Allowance	1	L.S.	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
11	SCADA RTU Allowance	1	L.S.	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00	
	CORRECTED BID PRICE				\$93,124.00			
	BID PRICE AS SUBMITTED				\$211,006.00		\$229,500.00	
	BID BOND				Yes		Yes	
			Withdrew Bid					

Page 3 of 4

BID TABULATION

Ottawa County State Road Sanitary Sewer Subsidence Repair (Rebid)

Job Number: 308500-00111

Bids Received: Tuesday, November 13, 2018 at 10:30 a.m.

Engineer's Estimate: \$215,000

Poggemeyer Design Group, Inc.

1168 North Main Street

Bowling Green, Ohio 43402

Unilliance, Inc.

3346 South Four Mile House Road

Oak Harbor, Ohio 43449

Cash Services, LLC P.O. Box 206

5811 Woodville Road Northwood Ohio 43619

						Northwood, Onio 43	019
Ref. No.	Description	Estimated					
		Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price
1	Sanitary Sewer Force Main 3"	470	L.F.	\$48.42	\$22,757.40	\$52.45	\$24 GE1 F0
!	•	470		·		·	\$24,651.50
2	Laterals 6"	260	L.F.	\$24,309.00	\$6,320,340.00	\$56.00	\$14,560.00
3	Manhole, Complete	1	Each	\$14,716.20	\$14,716.20	\$36,819.86	\$36,819.86
4	New Pump Station 5' Diameter Wet Well	1	Each	\$106,484.00	\$106,484.00	\$100,583.00	\$100,583.00
5	Abandon Existing Sewer Pipe, Block and Seal						
	Both Ends	1	L.S.	\$2,296.24	\$2,296.24	\$1,200.00	\$1,200.00
6	Traffic Control	1	L.S.	\$3,560.00	\$3,560.00	\$1,780.00	\$1,780.00
7	Storm Sewer Work Station 79+50, Installed						
	Complete	1	L.S.	\$6,390.50	\$6,390.50	\$500.00	\$500.00
8	Restoration	1	L.S.	\$21,522.50	\$21,522.50	\$2,500.00	\$2,500.00
9	Mobilization	1	L.S.	\$6,700.00	\$6,700.00	\$14,400.00	\$14,400.00
10	General/Mechanical/Electrical Allowance	1	L.S.	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
11	SCADA RTU Allowance	1	L.S.	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00
	CORRECTED BID PRICE				\$6,528,766.84		\$220,994.36
	BID PRICE AS SUBMITTED				\$232,735.84		\$231,634.36
	BID BOND				Yes		Yes
						U	sed wrong UPS

Page 4 of 4

BID TABULATION

Ottawa County State Road Sanitary Sewer Subsidence Repair (Rebid)

Job Number: 308500-00111

Bids Received: Tuesday, November 13, 2018 at 10:30 a.m.

Engineer's Estimate: \$215,000

Poggemeyer Design Group, Inc.

1168 North Main Street

Bowling Green, Ohio 43402

Ref. No.	Description	Estimated		
		Quantity	Unit	Average
	Ossilas Ossas Francis Mais Oll	470	. –	00.404.40
1	Sanitary Sewer Force Main 3"	470	L.F.	\$2,194.48
2	Laterals 6"	260	L.F.	\$5,035.17
3	Manhole, Complete	1	Each	\$15,918.34
4	New Pump Station 5' Diameter Wet Well	1	Each	\$92,175.83
5	Abandon Existing Sewer Pipe, Block and Seal			
	Both Ends	1	L.S.	\$2,249.37
6	Traffic Control	1	L.S.	\$3,390.33
7	Storm Sewer Work Station 79+50, Installed			
	Complete	1	L.S.	\$3,006.75
8	Restoration	1	L.S.	\$11,770.42
9	Mobilization	1	L.S.	\$9,753.33
10	General/Mechanical/Electrical Allowance	1	L.S.	\$10,000.00
11	SCADA RTU Allowance	1	L.S.	\$14,000.00

CORRECTED BID PRICE BID PRICE AS SUBMITTED BID BOND